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We require, ‘as he plotted’; but it is not — R 2Rt WK Y2

OVERVIEW

The X773 explained the reason why if the 12m1 o7y testified that someone is a 12
7w173; they do not become w173 12, because we cannot disqualify their children (by
making them 0°%%17 as well), since the 770 writes 2n7T MWK 12 an°wy, but not W,
and since we cannot fulfill the ant wX> completely it does not apply at all. n1voIN
discusses a particular case where seemingly we can disqualify the o>7v.

mooIn asks
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There is a difficulty; in a case where they testify that someone is a "W >9xn,
where they do not come to disqualify his children, only to disqualify him, so
therefore in this case we should disqualify the 1227 0779 and consider them a "3 *xn!®

N1B0IN answers:
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And one can say that nevertheless his wife will be disqualified (from 772172), for

he disqualified her by his 8>3 with her -
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! We can assume from the 71w that the law of 7w 12 is not limited only to a case of 7w 72, but rather that by any
case of 27 (7N712) 7109, we do not apply the a1 MWK to make the 11 °7v into 77 7109, but rather we give them
mpon. The reason is because any 277p *2109 (usually) affect w1, which we exclude because of the V13 of W1 X971 1.
However mooin is offering an example where the 277 2105 does not affect w11, but only the a7 o7y, See R"wAmn.
ZACWw s a person whose father and/or mother were 0°1¥»n who were 7731 (the parent(s) are 77WwX1 *7¥» and their
offspring are " *¥n). A WX *7¥» (a *¥» who was 7°n1) may not marry a (n°)>X7W*; he can marry a (n)>x»
NI, A W XA can also not marry a P8I, A 1w *I¥» who marries a 3w n3n, their child who is a Swow 13y is
SR . See v-11,30 (X¥N) 0°727 which states; 077 822 ¢O9Y 1317 077 1771 WK 0212 .0 XN D7 73 2 I¥n 2vND KD
7 2R3
? The children of the accused (who are a *w @ *¥n) are 7P Inm. See footnote # 2.
* The () 007y testify that he is a *1w *7¥7 (the son of a *1¥n) and is therefore 2X7w>2 7oK,
> We are only disqualifying the P»a 07 and making them a *1w 7%, thus prohibiting them from marrying (or
living with) a n°2%7w*; however their children (even if they are considered to be a *w>5w »3¥n) are 277% 1mn. There is
no concern here of w17 891 15.
% The rule is than any woman who had a relationship with a man who is forbidden to her (in any manner), is
considered a 1117 and therefore forbidden to marry a 372 (afterward). If we consider the 1nn1r 07y as a "1 "Mxn then
the woman he (will marry or) is already married to will become a 11117 (for she is forbidden to live with a *1w *xn).
We are not only punishing the »m7 27y, but we are also punishing his wife, which we cannot do as npoIn
continues to explain.
" There is the view of *0v " in X,M0 N1 that a 770K AR°2 is NP0 the WX only if the ¥71 from this 78*2 is 200 (like
by a 9%n or a 71n); however if the ¥77 is not 2109 (like by a *1w *1%¥n) the wife is not n9091. However the o°non there
disagree and maintain that every 77109 X2 is n?010 the woman. See ‘Thinking it over’ # 2.
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And it is written, ‘and you shall do to him as he plotted’; we expound the word
‘him’ as an exclusion, only to him but not to his wife.”

SUMMARY
We do not make the 7°21n17 0379 a "W 7X¥» because it affects their wives.

THINKING IT OVER
1. What would be the ruling if he had no wife?’

2. What would be the rule according to *01 " if they testified that someone is a
1w *1¥n?'® What would be the ruling if they testified that a woman is a "1 n™¥n
(where she is not 901 the husband)?ll

3. mooIn discusses the case where 077V testified that someone is a *1w >7¥n and they
were an7. What exactly was the testimony that both sets of o7y testified (the
testimony of "1 >7xn and of an™7 11nY) that it constitutes a 717

¥ The punishment of ant 9wX3 is limited to the 71 07 only; not to their children (W12 891) and not to their wives
(nwR> X7). Since, as a consequence of making the 1" 0¥ into a *1w »¥n, we would also be punishing the wife
(which we cannot do); therefore we do not implement the an7 TwX> (just as we do not implement it if it affects his
children).
? See X"a0.
10 See footnote # 7 and 1% 1.
' See »x mman.
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